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QUESTION 1

A user with an Organization Member role would like to add another user to an organization. How would this be
accomplished? 

A. Only users with an Organization Owner role can invite and add users to the organization. 

B. The user with an Organization Member role needs to have CloudAdmin permissions in order to add a new user. 

C. The user with an Organization Member role will be able to add a new user through the Identity and Access
Management page. 

D. Users with an Organization Member role are automatically granted access to all roles within VMware Cloud on AWS. 

Correct Answer: A 

 

QUESTION 2

A company is operating a main data center and two smaller data centers in branch offices. The main data center is
being replicated to a disaster recovery site at a co-located data center with a recovery point objective (RPO) of five
minutes and a recovery time objective (RTO) of two hours. The branch data centers are shipping backup tapes to the
main data center on a weekly basis. What would be a cost-efficient VMware solution that would improve RTO and RPO
for the branch office data centers while maintaining the recovery time for the main data center? 

A. Create a software-defined data center (SDDC) in VMware Cloud on AWS. Create a shared content librand let the
branch offices subscribe to it. Export the virtual machines in the branch offices to OVF files on the shared content library
on a weekly basis. 

B. Create a software-defined data center (SDDC) in VMware Cloud on AWS. Migrate the disaster recovery solution from
the co-located data center to the VMware Cloud on AWS SDDC. Create regular copies of the virtual machines at the
branch offices and use AWS Snowball to directly ship the copies to an AWS data center and store them on AWS S3
buckets. 

C. Create a software-defined data center (SDDC) in VMware Cloud on AWS. Activate VMware Site Recovery. Replace
the co-located disaster recovery (DR) site for the main data center with VMware Site Recovery. For the branch offices,
implement VMware Cloud Disaster Recovery (VCDR). 

D. Create a software-defined data center (SDDC) in VMware Cloud on AWS. Replace the co-located site for the main
data center and the backup tape shipping for the branch offices with VMware Cloud Disaster Recovery (VCDR). 

Correct Answer: A 

 

QUESTION 3

A virtual machine in VMware Cloud on AWS sends a packet to an Amazon Elastic Compute Cloud (EC2) Linux instance
in the associated AWS account. Which device is the next hop for the packet? 

A. Edge Virtual Machine 

B. AWS Elastic Network Adapter (ENA) on the VMware ESXI host 
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C. Tier-0 (T0) Router 

D. Tier-1 (T1) Router 

Correct Answer: B 

 

QUESTION 4

When deploying within VMware Cloud on AWS, which three VMware Horizon features are supported? (Choose three.) 

A. Linked clone desktops 

B. Instant clone desktops 

C. Full clone Remote Desktop Session Hosts (RDSH) 

D. Persona management 

E. Unmanaged desktops 

F. Full clone desktops 

Correct Answer: BCF 

 

QUESTION 5

What is the maximum Gbps of bandwidth that each AWS Elastic Network Adapter (ENA) provides on a i3.metal host? 

A. 25 Gbps 

B. 50 Gbps 

C. 10 Gbps 

D. 100 Gbps 

Correct Answer: A 
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